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X BEFEE 2&’-‘&%7@% qu%T“m FENEEGRIES EAZE%EEEZEE_[:{’EK%‘ NTFETGT -
CEERE  (52%) R Ay BEEEET 1

BRERUE L 631 6L BRAM LIS BRHEEA1635 0 BEE B8 EIKEIALRA—
FeMksT » BIRERE §A2B60005 2 H4F (p) BT 7

a. p<10%
b. 10% = p<14%
c. 14% = p<18%
d. 18% =p

%kﬁﬁdﬁéﬁﬂ%z%%“*%$%0% HEERNAFEXIF N LERER
#ﬁ%ﬁz#&ﬁréws s ERITEBEREE Bl E B SHMEEH0.25 - AFEEABKE
MR EREARAHA AL E R T ERELTZHEQAMT?

a. p<040

b. 040 = p<0.50

c. 050 = p<0.60

d 060 =p

EEASHXRYHEFENE ﬂXf’faYéﬁ o RX-YZSEHSE
a. oi+o

b ol -0l

c ol+o,

d. 22

- ERZRRERBEE 20015 0 Sk RE ?&Za

BE ) 0 BRI ER2S54ARA 0 B mdE
BRAEFHATHEA201g - HABRREEB25g F3 -;.-Cpk%fw

a. Cu<020

b. 020 = Cw<0.60
c. 0.60 = Cx<0.80
d 080 < Cu

S AARMBEE —f s B AKX RE ST  Ad— N5 0.09)cm ~ Rih = !
N(60, 0.16)cm ~ /K &4 = N(25, 025)cm » ¥ 48 2 K E#3i8160.50 52 R (p) AT 7

a. p<30%

b. 30% = p<35%
c. 35% = p<40%
d 40% = p

The ANOV A procedure is a statistical approach for determining whether or not
a.  the means of two samples are equal

b. the means of two or more samples are equal

c.  the means of more than two samples are equal

d.  the means of two or more populations are equal

An experimental design where the experimental units are randomly assigned to the treatments is known
as

factor block design

random factor design

completely randomized design

None of these alternatives is correct.

mo o




&

1 EIIIARSA 113 BT R

%P BUEEREAUIER

HHFE YR RS : 0201 B
$28  H6H

8. Part of an ANOVA table is shown below. The number of degrees of freedom corresponding to within
treatments is:
Source of Sum of Degrees Mean
Variation Squares of Freedom Square F
Between Treatments : 64 ’ 8
Within Treatments 2
Error
Total 100

a. 22

b. 4

c. 5
d 18

9. Each customer entering a department store will either buy or not buy some merchandise. An experiment
consists of following 4 customers and determining whether or not they purchase any merchandise.
How many sample points exist in the above experiment? (Note that each customer is either a purchaser

or non-purchaser.)

a. 2
b. 4
C. 12
d. 16

10. IfP(A)=0.7, P(B) = 0.6, P(A n B) =0, then events A and B are
: a.  not mutually exclusive
b.  mutually exclusive
c.  independent events
d.  complements of each other
11. A probability distribution showing the probability of x successes in # trials, where the probability of
success does not change from trial to trial, is termed a
a.  uniform probability distribution
b.  binomial probability distribution
c.  hypergeometric probability distribution
d.  normal probability distribution
12. The number of electrical outages in a city varies from day to day. Assume that the number of electrical
outages (x) in the city has the following probability distribution.
b f(x)
0 0.80
1 0.15
2 0.04
3 0.01
The mean and the standard deviation for the number of electrical outages (respectively) are
a. 2.6and5.77
b.  0.26 and 0.577
c. 3and0.01
d. 0and0.8
13. Assume that you have a binomial experiment with p = 0.5 and a sample size of 100. The expected value
of this distribution is
a. 050
b. 030
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C. 100 2
d. 50 ,
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1.  The random variable x is the number of occurrences of an event over an interval of ten minutes. It can be
assumed that the probability of an occurrence is the same in any two-time periods of an equal length. It
is known that the mean number of occurrences in ten minutes is 5.3. Then, the probability that there are
less than 3 occurrences in ten minutes is

a. .0659
b. .0948
c. 1016
d. .1239

2. A simple random sample of 144 observations was taken from a large population. The sample mean and
the standard deviation were determined to be 1,234 and 120 respectively. The standard error of the mean
is
a. 1,234+120

b. 120
c. 120%12=1,440
d 10

3.  Since the sample size is always smaller than the size of the population, the sample mean
a.  must always be smaller than the population mean
b.  must be larger than the population mean
c.  must be equal to the population mean
d.  can be smaller, larger, or equal to the population mean
4. A population has a mean of 75 and,a standard deviation of 8. A random sample of 800 is selected. The
expected value of x is

a. 8
b. 75
c. 800

d.  None of these alternatives is correct.
5. A sample of 24 0bservat1ons is taken from a population that has 150 elements. The sampling distribution
of x is
a.  approximately normal because Xx 1is always approximately normally distributed
b.  approximately normal because the sample size is large in comparison to the population size
c.  approximately normal because of the central limit theorem
d.  normal if the population is normally distributed
6. Doubling the size of the sample will
a.  reduce the standard error of the mean to one-half its current value
b.  reduce the standard error of the mean to approximately 70% of its current value
c.  have no effect on the standard error of the mean
d.  double the standard error of the mean
7. Inorder to use the normal distribution for interval estimation of i when ¢ is known and the sample is
very small, the population
a.  must be very large
b must have a normal distribution
¢.  can have any distribution
d.  must have a mean of at least 1
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8. A 95% confidence interval for a population mean is determined to be 100 to 120. If the confidence
coefficient is reduced to 0.90, the interval for p
a.  becomes narrower
b.  becomes wider
c.  doesnot change
d.  becomes 0.1
9. It is known that the variance of a population equals 1,936. A random sample of 121 has been taken from
the population. There is a .95 probability that the sample mean will provide a margin of error of
a. 7.84
b. 31.36
c. 34496
d 1,936
10. Inhypothesis testing if the null hypothesis has been rejected when the alternative hypothesis has been
true,
a. aTypeI error has been committed
b.  aType Il error has been committed
c.  either a Type I or Type II error has been committed
d.  the correct decision has been made
11. For alower bounds one-tailed test, the test statistic z is determined to be zero. The p-value for this test is
a.  zero
b. -05
c. 0.5
d 1.00 )
12. Ifthe level of significance of a hypgthesis test is raised from .01 to .05, the probability of a Type II error
a.  will also increase from .01 to .05
b.  will not change
c.  will decrease
d.  will increase
13. The average monthly rent for one-bedroom apartments in Houston has been $700. Because of the
downturn in the real estate market, it is believed that there has been a decrease in the average rental.
The correct hypotheses to be tested are
a  He p2700 Ha: p<700
b. He p=700 H:: p=700
c. He: p>700 Ha: p <700
d. He p<700 Ha p>700
14. To compute an interval estimate for the difference between the means of two populations, the ¢
distribution
a.  isrestricted to small sample situations
b.  is notrestricted to small sample situations
c.  can be applied when the populations have equal means
d.  None of these alternatives is correct.
15. Ifthe coefficient of determination is a positive value, then the coefficient of correlation

must also be positive

must be zero

can be either negative or positive
must be larger than 1

e o p




£

4RI 188

5K 0 H6H

BITIERIhAER 113 SRR HHAESHAE
% BT BLEERE AR
BHFE ¢ HETTE

3 EHEA - 0201 0 EAR ¢

1

situation is

a. 0.65
b. 0.1785
c.  any positive value -
d. any value
Eﬁ:&
TABLE |

16. Ina regresgion analysis, the coefficient of determination is 0.4225. The coefficient of correlation in this

STANDARD NORMAL DISTRIBUTION

Area or
probability

[N AR
W — T

[R5 JNN T I I PR B )

o Lo Nao

[¥%3

00

XN
0398
07193
79
(1554

918
2257
2580
2881
3159

2413
3613
ARA9
4032
4192

4332
4452
4554
A6
4713

4772
4821
4861
#4893
4918

49338
4953
49635
4974
4981

4987

0

R

L0040
438
832
4247
1591

1950
2291
2611
2910
3186

34338
3665
3869
4049
A207

A5
4463
4564
A649
4719

A778
4826
4364
4898
4920

4940
4955
4966
4975
4942

4987

02

D080
478
0871
4235
1628

JI9ES
2324
2642
2934

A212

346l
3686
3883
066

41')')

R Pt 4

4357
474
A573
4656
4726

4783
A830
A86%
4898
4972
4941
4956
4967
4976
4982
4987

-

03

0120
0317
0u10
1293
1664

2019
2357
2673
2867
3238

485
3708
3907
4082
4236
4370
Ad34
4582
4664
4732

4788
4834
4871
4901
4925

4943
4957
A968
4977
4983

4988

0160
0557
0948
1331
AT00

2034
2389
2704
2995
3264

3508
3729
3925
4099
4251

4382
95
4591
4671
4738

4793
4838
4875
AR04
4927

4945
4959
4969
4977
4984

4988

U4

Entries in the table give the area under
the curve between the mean and z stan-
dard deviations above the mean. For
example, for z = 1.25 the area under
the curve between the mean and s
3944,

05 R Ry} 08 A9

0199 0239 0274 D39 0359
0396 D636 D675 {714 1753
0987 1026 064 103 dH
1368 4406 A3 180 517

1736 1772 (1808 844 REY)

L2088 2123 2157 2180 2224
2422 2454 2486 25107 2549
2734 2764 3794 2823 2852
3023 3051 3078 3106 3133
3289 3315 3340 3365 .3389

3531 3554 A577 3599 3621
3749 3770 3790 3R10 3830
3944 3962 3980 3997 ADLS
4115 4131 4147 4162 4177
265 4279 4292 4306 431y

4394 A400 4418 4429 4441
A305 4515 4525 4535 A543
#4599 A603 A616 4625 4633
4678 4686 4693 A699 4706
4744 4750 4756 4761 4767

A798 4803 ~808 A812 AR
4842 AR46 A850 4854 4857
A878 4881 4584 4887 A890
4900 4909 A911 A913 4916
4929 4931 4932 4934 4936

4946 4948 4949 4951 4952
4960 4901 4962 4963 A964
4970 A971 4972 4973 4974
4978 4979 A979 4980 4981
4984 4985 4985 4986 4986

4989 4939 4989 4990 4990
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TABLE 2 : DISTRIBUTION
Area or
probability Entries in the table give ¢ values for an
area or probability in the vpper tail of
the ¢ distribution. For example, with 10
] ) degrees of freedom and a .05 area in the
0’ ) upper tail, £, = 1812,
Area in Upper Tail
Degrees . e e e+t - e e s e
of Freedom 20 .10 05 025 01 005
1 1.376 3.078 6.314 12.706 31.821 63.636
2 1.061 1.886 2920 4303 6.965 9.925
3 .978 1.638 2.353 3.182 4.541 5.841
4 941 1.533 2,132 2776 3.747 4.604
5 920 1.476 2.015 257 3.365 4,032
6 506 1.440 1.943 1,447 3.143 3707
7 896 1415 1.895 2.365 2998 3.499
8 B89 1.397 1.86Q 2.306 2.896 3355
9 883 1.3§3 1.833 2262 2821 3.250
10 876 1.372 1.312 2.228 2.764 3.169
11 876 1.363 1.796 2.201 2718 3106
12 873 1.356 1.782 2179 2.681 3.055
13 876 1.350 1.771 2,160 2.650 3.012
14 868 1.345 1.761 2.145 2.624 2.977
15 866 1.341 1.753 2.131 2.602 2.947
16 865 1.337 1.746 2,120 2.583 2.921
17 883 1333 1.740 2110 2567 2.898
18 862 1.330 1.734 2.101 2.552 2878
19 861 1.328 1.729 2.093 2.539 2.861
20 .860 1.325 1.725 2.086 2.528 2.845
2] 8359 1.323 1.721 2.080 2518 2.831
22 838 1.321 1.717 2.074 2.508 2.819
23 858 1.319 1.714 2.069 2.500 2.807
24 .857 1.318 L7 2,064 2,492 2.797
25 856 1.316 1.708 2.060 2485 2.787
26 856 1.315 1.706 2.056 2479 2.779
27 8B5S 1314 1.703 2052 2473 271
28 855 1.313 1701 2048 2467 2.763
29 854 131t 1.699 245 2,462 2,756
30 .854 1.310 1.697 2.042 2457 2750
31 853 1.309 1.696 2.040 2.453 2.744
32 853 1.309 1.694 2.037 2.449 2.738
33 .853 1.308 1.692 2035 2445 2733
34 852 1.307 1.691 2.032 2.441 2,728




